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TEST CHALLENGE &t
Tyiry EIT1 RAUE RPIVTa— FEIT2 RAUE RFIVTa— FET3 RAUE RPLTa—|IMNER RAUh B
5 931 HEE #®X VLE ELE E—k 36.1 36 35.9 35 36.3 36 108.3 107 1
7 9321 ER B# LOES (FAL #ERRE D S660 37.9 37 36.9 36 36.7 36 111.5 109 2
6 7321 AN # FIE ARV FHRRAR—Y 39.1 39 37.7 37 38.0 38 10.0 124.8 124 3
9 9321 RAH 2 FEA = Hiany 39.0 39 38.1 38 49.3 49 126.4 126 4
8 931 L% ith Ef=2D F={F b2 P O 2A07 44.0 44 434 43 435 43 130.9 130 5
3 9321 g B M=t VL ISLTIAIBTIVET—HR 51.3 51 415 41 39.8 39 132.6 131 6
10 931 # #h'H I8 BERBi-MIEV2S 49.3 49 46.2 46 45.4 45 140.9 140 7
1 9321 wa 5 FDRIZ 5T F BERBi-MIEV 459 45 10.0 43.7 43 425 42 10.0 152.1 150 8
4 7321 PRk =— ENES BELTY SUZUKI kei7—% & 55.0 55 50.8 50 48.9 48 154.7 153 9
2 9321 NER E BhiEhHL fKH JRTE72D > S660 455 45 30.0 50.0 50 30.0 46.4 46 201.9 201 10

20 2523 E 2 MA BT PP =D 41.0 41 40.4 40 38.8 38 1202 119 1
21 9523 #EE 1Y DRV IEIFEEDBRZ 416 41 40.4 40 44.4 44 10.0 136.4 135 2
23 9523 REX R BELE VBHE Fa—K TsX 426 42 10.0 441 44 40.7 40 10.0 147.4 146 3
24 9523 L FiE EHED VTHH SEvep3 57.4 57 50.2 50 50.1 50 157.7 157 4
22 9523 SERE R CAES FXR T—Hxlh 50.5 50 30.0 53.7 53 49.0 49 183.2 182 5
27 7524 % SES VMG HMK on the NX300h 55.5 55 50.0 50 455 45 151.0 150 1
25 9524 = EE B35 =MV 95R4%ELYHITHE 46.8 46 61.3 61 47.9 47 156.0 154 2
26 7524 == BEA BT HEE ZAGIENRYoE 53.0 53 300 54.5 54 30.0 48.3 48 215.8 215 3




